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4C6: Examiner’s comments:

Q1 Impulse testing: 31 Attempts
Very popular and generally very well done, and most followed the methodology taught in lectures -
easy marks, but showing that they had learned this useful stuff.

Q2 Rectangular membrane: 28 Attempts

Quite well done. Popular. In (a) “show that ... must...” required a proof, not just a substitution. And
care in explaining why n=0 is valid for (c) but not for (b). Lots of new modes so (d) is “yes” — most
said “no”.

Q3 Damping treatment 18 Attempts

Done very well by those who could follow instructions and answer the question. Many took it to be
axial stretching of a bar. And many found the algebra overwhelming. The good answers where
compact and clear.

Q4 Helmholtz 2dof: 25 Attempts

Many made a complete hash of this by not reading the question. It’s a 2dof problem so it’s easiest
to set up a matrix equation.. The best answers again were compact and clear. Quite a few wrote
pages and pages of rambly equations getting nowhere.



